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Circuit Lab
Ammeters measure the current in a circuit.  Ammeters must be connected in series so the current goes through them.  Use this symbol for an ammeter. 
Voltmeters measure the voltage in a circuit.  Voltmeters must be connected in parallel. Use this symbol for a voltmeter.
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1. The following question refers to Circuit 1.  R = 15 Ω.
a. Use Ohm’s Law to predict what the current in the circuit will be.
b. Add an ammeter to the diagram of Circuit 1.

c. Build Circuit 1.  What is the current?

d. Was the current you measured close to your prediction?  Why or why not?

2. The following questions refer to Circuit 2.  R1 = 220 Ω and R2 = 1.0 x 102 Ω.
a. Are R1 and R2 connected in series or in parallel?
b. What is the total resistance of this circuit?

c. Use Ohm’s Law to predict what the current in the circuit will be.

d. Add an ammeter to the diagram of Circuit 2.

e. Build Circuit 2.  What is the current?

f. Was the current you measured close to your prediction?  Why or why not?

g. Use Ohm’s Law and the current you measured to predict the voltage across R1.

h. Use Ohm’s Law and the current you measured to predict the voltage across R2.

i. Use a voltmeter to measure the voltage across R1. 

j. Use a voltmeter to measure the voltage across R2. 
k. Were your measurements close to your predictions?  Why or why not?

3. The following questions refer to Circuit 3.  R1 = 1.0 kΩ and R2 = 1.0 x 102 Ω.
a. Are R1 and R2 connected in series or in parallel?

b. Use Ohm’s Law to predict the current through R1.

c. Use Ohm’s Law to predict the current through R2.

d. Add an ammeter to the diagram of Circuit 3 to measure the current through R1.

e. Build Circuit 3.  What is the current in R1?

f. Add an ammeter to the diagram of Circuit 3 to measure the current through R2.

g. Build Circuit 3.  What is the current in R2?

h. Were the currents you measured close to your predictions?  Why or why not?
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